BREEHIER(112.7)

#H
R R 1= @ 2= gt (%) EILES
0.5miZEdt (%) BER(A)
FHGE A 18,945 18,945 17,945 94.72%
1 adtmm StEEHRBER 1,701 1,701 0 0.00%
St B4R 0 0 1,944 -
Aadbr/st 20,646 20,646 19889 96.33%
FHGE A 763 763 790 103.54%
2 EEm StEEBRBER 3,094 3,094 0 0.00%
St BEIKAR 0 0 3,064 -
E[Em/\st 3,857 3,857 3854 99.92%
FHGE A 15,000 15,000 15,250 101.67%
3 iiw ) StEEHRBER 940 940 0 0.00%
St BOIKAR 0 0 147 -
#rdbrh/\at 15,940 15,940 15397 96.59%
FHGE A 8,118 8,118 8,118 100.00%
4 =1 StEEHRBER 1,364 1,364 0 0.00%
St B4R 0 0 0 -
EREM/\ET 9,482 9,482 8118 85.61%
FHGE A 0 -
5 =M% StEEHRBER 0 0 0 -
St BMOIKAR 0 0 0 -
=FIR/\ET 0 0 0 =
FHGE A 0 0 0 -
6 DTN StEEHRBER 0 0 0 -
St BEOIKAR 0 0 0 -
BT\ 0 0 0 =
FEHGE A 3,249 3,249 3,249 100.00%
7 L) StEEHRBER 297 297 0 0.00%
St BEIKAR 0 0 276 -
#IT/ANET 3,546 3,546 3525 99.41%
FHGE A 21,126 21,126 21,126 100.00%
8 HE™ StEEHRBER 1,256 1,256 0 0.00%
St BEIKAR 0 0 225 -
BB TH/\ET 22,382 22,382 21351 95.39%
FHGE A 695 695 695 100.00%
9 MR StEEHRBER 998 998 0 0.00%
St BEIKAR 0 0 890 -
TR \ET 1,693 1,693 1585 93.62%
FEHGE A 1,629 1,629 1,629 100.00%
10 HER StEEHRBEH 477 477 0 0.00%
St BMIKAR 0 0 458 -
EES YIS 2,106 2,106 2087 99.10%
(CE2EE) 11,947 11,947 11,947 100.00%
N adm StEEERBRE 7,552 7,552 0 0.00%
St B OIS 0 0 5,731 -
adrm/st 19,499 19,499 17678 90.66%
(CE2EE)E 14,152 14,152 14,055 99.31%
12 22 StEEERBR 12,476 12,476 0 0.00%
St B OAE 0 0 12,356 -
EER/\st 26,628 26,628 2641 99.19%
FEHGE A 8,320 8,320 0 0.00%
13 [=3psie StEEBRBER 2,634 2,634 0 0.00%
St BEOIKAR 0 0 10,154 -
/st 10,954 10,954 10154 92.70%
(CE2E R 15,332 15,332 14,082 91.85%
14 =0 StEEBRBRE 6,916 6,916 0 0.00%
St B OAE 0 0 6,893 -
arm/\st 22,248 22,248 20975 94.28%




FHGE A 3,224 3,224 3,222 99.94%
15 EEm StEEHRBER 1,220 1,220 0 0.00%
St BEIKAR 0 0 900 -
E=m/\et 4,444 4,444 4122 92.75%
(CE2EEE) 1,066 1,066 1,089 102.16%
16 BN StEEERBE 4,306 3,688 0 0.00%
St B OAE 0 0 4,301 -
EMRL/\ET 5372 4,754 5390 100.34%
(CE2EE) 733 683 733 100.00%
7 EE 33 StEEERBH 1,320 1,320 0 0.00%
St B OAE 0 0 1124 -
BEM/\Et 2,053 2,003 1857 90.45%
R 29,525 29,525 29,525 100.00%
18 i=1:-300) StEEERBH 13,056 13,056 0 0.00%
St B OAE 0 0 9,622 -
BRET/\Et 42,581 42,581 39147 91.94%
(CE2 e R 7,445 7,445 7,445 100.00%
19 RRR& StEEERBR 2,026 2,026 0 0.00%
St B OIS 0 0 1,601 -
R /\Et 9,471 9,471 9046 95.51%
(CE2EE) 10 10 1 10.00%
20 AL StEEERBRE 46 46 0 0.00%
St B OAE 0 0 20 -
R/ \st 56 56 21 37.50%
(CE2EE) 543 543 543 100.00%
21 TEER StEEERBRE 23 23 0 0.00%
St B OAE 0 0 23 -
TEER/\5t 566 566 566 100.00%
(CE2E R 7 7 7 100.00%
22 axfk StEEBRBR 0 0 0 -
St B OAE 0 0 0 -
BRM/\st 7 7 7 100.00%
(CEAE U 161,829 161,779 151451 93.59%
stEBERBER/E 61,702 61,084 0 0.00%
St B DEUHE/ VGt 0 0 59729 =
st 223,531 222,863 211,180 94.47%




BREEHR112.2)

=5
=24 R EH o] z= gt (32) o=
0.5mIZE$t (%) BER(E)
FHEL 17,800 17,800 16,900 94.94%
1 adm HE BB REH 1,684 1,684 0 0.00%
St ERIKAE 0 0 1817 -
Aadbm/at 19,484 19,484 18717 96.06%
FHGEL 650 650 628 96.62%
2 Eigm HE BB REH 3,275 3,275 0 0.00%
St EEIKAE 0 0 2,957 -
HEm/\Gt 3,925 3,925 3585 91.34%
FRGEL 15,000 15,000 15,250 101.67%
3 i HE BB R 940 940 0 0.00%
$t EEIKAE 0 0 147 -
o/t 15,940 15,940 15397 96.59%
FHEL 2,602 2,602 2,602 100.00%
4 HEM HE BB REH 577 577 0 0.00%
St EEIKAE 0 0 577 -
=Y 3,179 3,179 3179 100.00%
FHEAL 0 0 0 -
5 Bl HE BB REH 0 0 0 -
St EIKAE 0 0 0 -
gl Ui 0 0 0 =
FHEL 0 0 0 -
6 BT HE BB R 0 0 0 -
St EEIKAE 0 0 0 -
TR INGT 0 0 0 =
FHEL 2,939 2,939 2,939 100.00%
7 wm HE BB REH 204 204 0 0.00%
St EEIKAE 0 0 175 -
TN 3,143 3,143 3114 99.08%
FHEL 17,465 17,465 17,465 100.00%
8 HE™ HE BB R 742 742 0 0.00%
St EEIKAE 0 0 0 -
BEE /NG 18,207 18,207 17465 95.92%
FHEEL 2,010 2,010 2,010 100.00%
9 MR HE BB R 624 624 0 0.00%
St BEEIKAE 0 0 584 -
TR/ N 2,634 2,634 2594 98.48%
FHEL 779 779 779 100.00%
10 R HE BB R 312 312 0 0.00%
St BEIKAE 0 0 301 -
EES- Y 1,091 1,091 1080 98.99%
BHGEERL 14,985 14,985 17,105 114.15%
1 =Lhi] #HEEBREHE 5,962 5,962 0 0.00%
& B[O IKAR 0 0 2,770 -
=L 20,947 20,947 19875 94.88%
FHEL 14,127 14,127 12,973 91.83%
12 EZ (e $HE BB R 15,980 15,980 0 0.00%
St BEIKAE 0 0 15,781 -
BCR/ NG 30,107 30,107 28754 95.51%
FHEEL 9,055 9,055 0 0.00%
13 [t #E BB R 1,906 1,906 0 0.00%
St BEIKAE 0 0 10,195 -
mR R/ NET 10,961 10,961 10195 93.01%
EHGEERL 15,756 15,756 15,756 100.00%
14 aEm #HEBBREHE 5,862 5,862 0 0.00%
& B[O kAR 0 0 5,586 -
=0 21,618 21,618 21342 98.72%




BHGEERG 5,108 3,608 5,108 100.00%
15 RBEm HEBBREE 546 546 0 0.00%
#f BOIKAR 0 0 500 -
EExEm/E 5,654 4,154 5608 99.19%
FHGEL 789 767 822 104.18%
16 T HE BB R 4,018 3,086 0 0.00%
St ERIKAE 0 0 3,941 -
EMRG/NE 4,807 3,853 4763 99.08%
FHEAL 1,591 1,671 1,665 104.65%
17 e HE BB REH 1,476 1,476 0 0.00%
St EEIKAE 0 0 1,336 -
EEM/G 3,067 3,147 3001 97.85%
FHEAL 21,351 21,351 21,351 100.00%
18 ST HE BB REH 11,242 11,242 0 0.00%
St EEIKAE 0 0 8,132 -
S #Em/Gt 32,593 32,593 29483 90.46%
FHEAL 5,616 5,616 5,616 100.00%
19 RR% HE BB REH 2,410 2,410 0 0.00%
St EEIKAE 0 0 1,688 -
R/ NG 8,026 8,026 7304 91.00%
GBS 10 10 0 0.00%
20 AR HE BB REH 31 31 0 0.00%
St ERIKAE 0 0 17 -
RN Et 41 41 17 41.46%
FHEL 585 585 585 100.00%
21 TEERM% HE BB R 129 129 0 0.00%
St EEIKAE 0 0 258 -
TEER/ NGt 714 714 843 118.07%
FHEL 7 7 7 100.00%
22 ARk HE BB R 138 138 0 0.00%
St EEIKAE 0 0 138 -
ARG 145 145 145 100.00%
FHETAL/NG 148,225 146,783 139561 94.15%
B BB REEH/\Gt 58,058 57,126 0 0.00%
st BB/ 0 0 56900 =
M5t 206,283 203,909 196,461 95.24%




BRI E®ER(112.3)

534 R 1= @ 2= gt (%) EILES
0.5miZEdt (%) BER(A)

FHGE A 19,000 19,000 18,000 94.74%

1 =!rye) StEEBRBER 1,781 1,781 0 0.00%
St EMIKAR 0 0 1,766 -

Aadbr/st 20,781 20,781 19766 95.12%

FHGE A 1,092 1,092 974 89.19%

2 EEm StEEHRBER 3,958 3,958 0 0.00%
st EMIKAR 0 0 4125 -

EEm/\st 5,050 5,050 5099 100.97%

FHGE A 15,000 15,000 15,250 101.67%

3 iiw ) StEEHRBER 940 940 0 0.00%
st BMIKAR 0 0 147 -

#rdbrh/\at 15,940 15,940 15397 96.59%

FHGE A 2,446 2,446 3,048 124.61%

4 =1 StEEHRBER 616 616 0 0.00%
St BMIKAR 0 0 0 -

EREM/\ET 3,062 3,062 3048 99.54%
FHGE A 0 0 0 -
5 =M% StEEHRBER 0 0 0 -
St B4R 0 0 0 -
=FIR/\ET 0 0 0 =
FHGE A 0 0 0 -
6 DTN StEEHRBER 0 0 0 -
St BMOIKAR 0 0 0 -
ETR/\ET 0 0 0 =

FHGE A 3,715 3,715 3,715 100.00%

7 L) StEEHRBER 250 250 0 0.00%
St BEIKAR 0 0 225 -

#ITR/NET 3,965 3,965 3940 99.37%

FHGE A 18,933 18,933 18,933 100.00%

8 HE™ StEEBRBER 1,348 1,348 0 0.00%
St BOIKAR 0 0 58 -

BEEH/\ET 20,281 20,281 18991 93.64%

FEHGE A 674 674 674 100.00%

9 TR StEEHRBER 958 958 0 0.00%
St BEIKAR 0 0 867 -

TR/ \ET 1,632 1,632 1541 94.42%

FEHGE A 10 110 110 100.00%

10 RS StEEHRBEH 617 617 0 0.00%
St BMIKAR 0 0 595 -

EES YIS 727 727 705 96.97%

(CE2EE) 14,589 14,589 14,879 101.99%

n adm StEEERBRE 7,500 7,500 0 0.00%
St B OIS 0 0 5,408 -

Batrm/st 22,089 22,089 20287 91.84%

BRI 17,255 17,255 17,121 99.22%

12 22 StEEERBR 11,982 11,982 0 0.00%
St B OAE 0 0 11,837 -

EAtR/\st 29,237 29,237 28958 99.05%

FHGE A 10,299 10,299 9,585 93.07%

13 [=3psie StEEBRBER 2,418 2,418 0 0.00%
St BEIKAR 0 0 2,205 -

/st 12,717 12,717 11790 92.71%

AR 12,327 12,327 12,327 100.00%

14 arEm StEEERBRE 6,596 6,596 0 0.00%
St B OIS 0 0 6,315 -

Barm/\st 18,923 18,923 18642 98.52%




EHEAL 3,254 754 3,254 100.00%
15 £ SR BB REE 192 192 0 0.00%
Eg=1EIg = 0 0 100 -
Exm/Et 3,446 946 3354 97.33%
EHEGEAL 20,709 14,652 19,327 93.33%
16 BN SFE B E AR 5,306 3,904 0 0.00%
srEREIUHE 0 0 7,017 -
EWRE/NGT 26,015 18,556 26344 101.26%
BB 1,092 1,092 1,092 100.00%
17 =5k SFE B E AR 1,242 1,242 0 0.00%
Fag=NEIlg 0 0 1,192 -
E5R/\Et 2,334 2,334 2284 97.86%
BB 10,989 10,989 10,989 100.00%
18 BHEm SFEEE AR 5,906 5,906 0 0.00%
Fag=NEIlg 0 0 4,358 -
BT/t 16,895 16,895 15347 90.84%
EHEEAL 5738 5738 5738 100.00%
19 RERMK SFE B E AR 3,156 3,156 0 0.00%
Fag=NEIlg 0 0 2,525 -
RERRB/\ET 8,894 8,894 8263 92.91%
CEE R 0 0 0 -
20 Wik & S B Eh AR 0 0 0 -
SrEREIUHE 0 0 0 -
MRR/NET 0 0 0 -
BB 431 431 431 100.00%
21 1EER SFE B E AR 103 103 0 0.00%
srEREIUHE 0 0 103 -
TEER/\aT 534 534 534 100.00%
BB 437 437 437 100.00%
22 axk SFE B E AR 60 60 0 0.00%
srEREUHE 0 0 60 -
BRB/I\GET 497 497 497 100.00%
ERGEAM /T 158,090 149,533 155884 98.60%
SFE B ARFEH/\aT 54,929 53,527 0 0.00%
SrEE KA/ 0 0 48903 -
st 213,019 203,060 204,787 96.14%




BREEHR(112.4)

#H
534 R 1= @ 2= gt (%) EILES
0.5miZEdt (%) BER(A)
FHGE A 17,400 17,400 16,400 94.25%
1 =!rye) StEEBRBER 1,634 1,634 0 0.00%
St B4R 0 0 1,509 -
Aadbr/st 19,034 19,034 17909 94.09%
FHGE A 1,143 1,143 899 78.65%
2 EEm StEEHRBER 3,140 3,140 0 0.00%
St BEIKAR 0 0 4,462 -
EEm/\st 4,283 4,283 5361 12517%
FHGE A 15,400 15,400 15,920 103.38%
3 iiw ) StEEHRBER 1422 1422 0 0.00%
St BEIKAR 0 0 95 -
#rdbrh/\at 16,822 16,822 16015 95.20%
FEHGE A 2,268 2,268 2,736 120.63%
4 =1 StEEHRBER 576 576 0 0.00%
St BOIKAR 0 0 0 -
EREM/\ET 2,844 2,844 2736 96.20%
FHGE A 0 0 0 -
5 =M% StEEHRBER 0 0 0 -
St BEOIKAR 0 0 0 -
=FIR/\ET 0 0 0 =
FHGE A 0 0 0 -
6 DTN StEEHRBER 0 0 0 -
St BEOIKAR 0 0 0 -
ETR/\ET 0 0 0 =
FHGE A 1,731 1,731 1,731 100.00%
7 L) StEEHRBER 276 276 0 0.00%
St BMOIKAR 0 0 247 -
#ITR/NET 2,007 2,007 1978 98.56%
FEHGE A 19,175 19,175 19,175 100.00%
8 HE™ StEEHRBER 1,218 1,218 0 0.00%
St BEIKAR 0 0 20 -
BEEH/\ET 20,393 20,393 19195 94.13%
FHGE A 1,458 1,458 1,458 100.00%
9 TR StEEBRBEH 764 764 0 0.00%
St BEIKAR 0 0 1127 -
TR/ \ET 2,222 2,222 2585 116.34%
FEHGE A 358 358 358 100.00%
10 RS StEEHRBER 496 496 0 0.00%
St B4R 0 0 480 -
EES YIS 854 854 838 98.13%
AR 21,879 21,879 21,879 100.00%
n adm StEEERBER 6,158 6,158 0 0.00%
St B OAE 0 0 4,395 -
Batrm/st 28,037 28,037 26274 93.71%
(CE2EE) 14,753 14,753 14,510 98.35%
12 22 StEEERBER 12,700 12,700 0 0.00%
St B OAE 0 0 12,543 -
EAtR/\st 27,453 27,453 27053 98.54%
FEHGE A 9,507 9,507 8,919 93.82%
13 [=3psie StEEBRBER 2,148 2,148 0 0.00%
St BEIKAR 0 0 2,01 -
/st 11,655 11,655 10930 93.78%
AR 12,113 12,113 12,113 100.00%
14 arEm StEEERBER 7,448 7,448 0 0.00%
St B OAE 0 0 7,154 -
Barm/\st 19,561 19,561 19267 98.50%




FHGE A 3,095 2,095 3,095 100.00%
15 StEEHRBER 938 938 0 0.00%
St BEIKAR 0 0 750 -
==/t 4,033 3,033 3845 95.34%
(CE2EEE) 403 403 403 100.00%
16 StEEERBH 2,666 2,456 0 0.00%
St B OAE 0 0 2,609 -
EMR&/\ET 3,069 2,859 3012 98.14%
(CERE R 1,656 1,628 1,656 100.00%
7 StEEERBH 526 526 0 0.00%
St B OAE 0 0 356 -
BxM/\st 2,182 2,154 2012 92.21%
R 9,844 9,844 9,844 100.00%
18 StEEBRBRE 5,690 5,690 0 0.00%
St B OAE 0 0 4,298 -
BRET/\at 15,534 15,534 14142 91.04%
(CE2EE) 6,954 6,954 6,954 100.00%
19 StEEBRBRE 1,610 1,610 0 0.00%
St B OIS 0 0 1,243 -
R /\st 8,564 8,564 8197 95.71%
(CE2EE) 20 20 0 0.00%
20 StEEBRBH 67 67 0 0.00%
St B OAE 0 0 95 -
R/ \at 87 87 95 109.20%
(CE2 e R 43 43 43 100.00%
21 StEEERBRE 148 148 0 0.00%
St B OAE 0 0 148 -
TEER/\5t 191 191 191 100.00%
(CE2 e R 570 570 570 100.00%
22 StEEBRBR 0 0 0 -
St EOAE 0 0 0 -
B=RM/\st 570 570 570 100.00%
B L/\E 139,770 138,742 138663 99.21%
stEBERBER/E 49,625 49,415 0 0.00%
St EDEUHE/\E 0 0 43542 =
st 189,395 188,157 182,205 96.20%




BRI EHFR(112.58)

#H
534 R EH @ 2= gt (%) EILES
0.5miZEdt (%) BER(A)
adsm FHGE A 19,200 19,200 18,200 94.79%
1 adkmm StEEBRBER 1,966 1,966 0 0.00%
adsm St EMIKAR 0 0 1821 -
Aadbr/st 21,166 21,166 20021 94.59%
FHGE A 1,316 1,316 1,227 93.24%
2 EEm StEEHRBER 3,542 3,542 0 0.00%
St BEIKAR 0 0 3,575 -
EEm/\st 4,858 4,858 4802 98.85%
3 b FHGE A 15,600 15,600 16,150 103.53%
3 #ibm StEEHRBER 1,716 1,716 0 0.00%
3 i) St BEIKAR 0 0 180 -
#rdbrh/\at 17,316 17,316 16330 94.31%
4 FHGE A 2,327 2,327 3,116 133.91%
4 =1 StEEHRBER 798 798 0 0.00%
4 St B OKAE 0 0 0 -
EREM/\ET 3,125 3,125 3116 99.71%
gl FHGE A 0 0 0 -
5 IR SHEEHRBER 0 0 0 -
EARL st EEIKAR 0 0 0 -
=FIR/\ET 0 0 0 =
6 BT FHGE A 0 0 0 -
6 TR StEEBRBER 0 0 0 -
6 BT St BEOIKAR 0 0 0 -
ETR/\sT 0 0 0 =
FHGE A 1197 1197 1197 100.00%
7 L) StEEHRBER 261 261 0 0.00%
St B4R 0 0 235 -
#ITR/NET 1,458 1,458 1432 98.22%
FHGE A 26,136 26,136 26,136 100.00%
8 HE T StEEHRBER 1,324 1,324 0 0.00%
St BEOIKAR 0 0 27 -
BEEH/\ET 27,460 27,460 26163 95.28%
FHGE A 3,846 3,846 3,846 100.00%
9 TR StEEBRBER 1,018 1,018 0 0.00%
St BEOIKAR 0 0 921 -
TR/ \ET 4,864 4,864 4767 98.01%
FHGE A 379 379 379 100.00%
10 RS StEEHRBER 463 463 0 0.00%
St BEOIKAR 0 0 447 -
EES YIS 842 842 826 98.10%
(CE2 e R 18,102 18,102 18,102 100.00%
n adm StEEBRBR 5,594 5,594 0 0.00%
St B OAE 0 0 3,936 -
adrm/st 23,696 23,696 22038 93.00%
(CE2EE)E 20,181 20,181 20,034 99.27%
12 22 StEEBRBRE 15,900 15,900 0 0.00%
St B OAE 0 0 15,747 -
EAER/\st 36,081 36,081 35781 99.17%
FHGE A 7,457 7,457 7,009 93.99%
13 s StEEHRBEH 1,944 1,944 0 0.00%
St BEIKAR 0 0 1,830 -
iR/ \st 9,401 9,401 8839 94.02%
AR 21,085 21,085 21,085 100.00%
14 arEm StEEBRBRE 6,606 6,606 0 0.00%
St B OAE 0 0 6,437 -
arm/\st 27,691 27,691 27522 99.39%




FHGE A 2,591 2,591 2,591 100.00%
15 EEm StEEHRBER 942 942 0 0.00%
St BEIKAR 0 0 800 -
E=m/\et 3,533 3,533 3391 95.98%
(CE2EEE) 2,462 2,462 1,962 79.69%
16 EMRA StEEERBE 5,252 4,890 0 0.00%
St B OAE 0 0 5,676 -
EMR/\ET 7,714 7,352 7638 99.01%
(CE2EE) 1,280 985 1,286 100.47%
7 EE 3 StEEERBH 664 664 0 0.00%
St B OAE 0 0 550 -
Bxl/\st 1,944 1,649 1836 94.44%
(CER e R 18,903 18,903 18,903 100.00%
18 i=1:-30) StEEERBH 6,430 6,430 0 0.00%
St B OAE 0 0 4,010 -
BRET/\Et 25,333 25,333 22913 90.45%
(CE2 e R 6,982 6,982 6,982 100.00%
19 RRR& StEEBRBRH 1,630 1,630 0 0.00%
St B OAE 0 0 1,259 -
R /\Et 8,612 8,612 8241 95.69%
AR 10 10 0 0.00%
20 AL StEEBRBRH 18 18 0 0.00%
St EOUAE 0 0 30 -
Rk \st 28 28 30 107.14%
(CE2E R 48 48 48 100.00%
21 TEERk StEEBRBRH 91 91 0 0.00%
St EOAE 0 0 91 -
TEER/\at 139 139 139 100.00%
22 ARk AR 302 302 302 100.00%
22 xRk StEEERBER 40 40 0 0.00%
22 ARk St EOAE 0 0 40 -
B=RM/\st 342 342 342 100.00%
(CEAE R 169,404 169,109 168555 99.50%
stEBERBER/E 56,199 55,837 0 0.00%
St EDEUHE/\E 0 0 47612 =
st 225,603 224,946 216,167 95.82%




BRI EHIER(112.67)

#H
534 R 1= @ 2= gt (%) EILES
0.5miZEdt (%) BER(A)
adsm FHGE A 18,000 18,000 17,100 95.00%
1 adkmm StEEBRBER 1,568 1,568 0 0.00%
adsm St EMIKAR 0 0 1,469 -
Aadbr/st 19,568 19,568 18569 94.89%
FHGE A 1,340 1,340 1,267 94.55%
2 EEm StEEBRBER 3,316 3,356 0 0.00%
St BEIKAR 0 0 337 -
EEm/\st 4,656 4,696 4638 99.61%
3 b FHGE A 15,600 15,600 16,150 103.53%
3 #ibm StEEHRBER 1,716 1,716 0 0.00%
3 i) St BEIKAR 0 0 180 -
#rdbrh/\at 17,316 17,316 16330 94.31%
4 FHGE A 2,862 2,862 3,459 120.86%
4 =1 StEEHRBER 667 667 0 0.00%
4 St B OKAE 0 0 0 -
EREM/\ET 3,529 3,529 3459 98.02%
gl FHGE A 0 0 0 -
5 IR StEEHRBER 0 0 0 -
EARL st EEIKAR 0 0 0 -
=FIR/\ET 0 0 0 =
6 TR FHGE A 0 0 0 -
6 TR StEEHRBER 0 0 0 -
6 TR St BMIKAR 0 0 0 -
ETR/\sT 0 0 0 =
FHGE A 475 475 475 100.00%
7 L) StEEHRBER 292 292 0 0.00%
St BEIKAR 0 0 263 -
#ITR/NET 767 767 738 96.22%
FHGE A 22,379 22,379 22,379 100.00%
8 HE™ StEEBRBER 1,026 1,026 0 0.00%
St BEOIKAR 0 0 45 -
BEEH/\ET 23,405 23,405 22424 95.81%
FHGE A 2,697 2,697 2,697 100.00%
9 TR StEEHRBEH 794 794 0 0.00%
St BEIKAR 0 0 715 -
TR/ \ET 3,491 3,491 3412 97.74%
FEHGE A 1,085 1,085 1,085 100.00%
10 RS StEEHRBER 633 633 0 0.00%
St BEIKAR 0 0 609 -
EES YIS 1,718 1,718 1694 98.60%
(CEAE R 19,115 19,115 19,225 100.58%
n adm StEEERBRE 6,518 6,518 0 0.00%
St B OAE 0 0 4,283 -
adrm/st 25,633 25,633 23508 91.71%
(CE2EE)E 17,485 17,485 17,350 99.23%
12 22 StEEERBR 11,538 11,538 0 0.00%
St B OAE 0 0 11,392 -
EAER/\st 29,023 29,023 28742 99.03%
FEHGE A 3,408 3,408 2,577 75.62%
13 s StEEBRBER 2,498 2,498 0 0.00%
St BEIKAR 0 0 2,972 -
iR/ \st 5,906 5,906 5549 93.96%
(CE2E R 18,285 18,285 18,285 100.00%
14 arEm StEEERBRE 6,300 6,300 0 0.00%
St B OAE 0 0 5,907 -
arm/\st 24,585 24,585 24192 98.40%




FHGE A 3,250 3,250 3,250 100.00%
15 =+ 4] StEEHRBER 980 980 0 0.00%
St BEIKAR 0 0 850 -
==/t 4,230 4,230 4100 96.93%
(CE2EEE) 703 527 703 100.00%
16 EMRL StEEERBH 4,494 3,986 0 0.00%
St B OAE 0 0 4,402 -
EWR/\ET 5197 4,513 5105 98.23%
(CEREE)E 2,420 1,356 2,424 100.17%
7 3 StEEERBE 1334 1334 0 0.00%
St B OIS 0 0 1,145 -
BxM/\st 3,754 2,690 3569 95.07%
(CER e R 25,305 25,305 25,305 100.00%
18 i=1:-300) StEEERBH 7,369 7,369 0 0.00%
St B DA 0 0 4,115 -
BRET/\Et 32,674 32,674 29420 90.04%
(CE2EE) 6,977 6,977 6,977 100.00%
19 RRA& StEEBRBR 2,454 2,454 0 0.00%
St B DA 0 0 1,962 -
R /\st 9,431 9,431 8939 94.78%
(CE2EE) 0 0 0 -
20 AL StEEBRBR 20 20 0 0.00%
St B OIS 0 0 39 -
R/ \at 20 20 39 195.00%
(CE2EE) 61 61 61 100.00%
21 EER StEEERBRH 78 78 0 0.00%
St EOAE 0 0 78 -
TEER/\5t 139 139 139 100.00%
22 ARk (CE2EE) 309 309 309 100.00%
22 xRk StEEERBR 44 44 0 0.00%
22 ARk St EOAE 0 0 44 -
B=RM/\st 353 353 353 100.00%
(CEAE R 161,756 160,516 161078 99.58%
stEBERBER/E 53,639 53171 0 0.00%
St EDEUHE/\E 0 0 43841 =
st 215,395 213,687 204,919 95.14%




BREBHFR112.7R)

#H
PSR R EH @228t (%) EILES
0.5miZEdt (%) BER(A)
adsm FHGE A 16,800 16,800 15,900 94.64%
1 adkmm StEEBRBER 1,430 1,430 0 0.00%
adsm St EMIKAR 0 0 1337 -
Aadbr/st 18,230 18,230 17237 94.55%
FHGE A 1,221 1,221 1,198 98.12%
2 EEm StEEHRBER 2,756 2,876 0 0.00%
St BEIKAR 0 0 2,840 -
EEm/\st 3,977 4,097 4038 101.53%
3 b FHGE A 15,900 15,900 16,150 101.57%
3 L) StEEHRBER 940 940 0 0.00%
3 i) St B4R 0 0 100 -
#rdbrh/\at 16,840 16,840 16250 96.50%
4 FHGE A 3,897 3,897 4,517 115.91%
4 =1 StEEHRBER 700 700 0 0.00%
4 &t B[O AH 0 0 0 -
EREM/\ET 4,597 4,597 4517 98.26%
gl FHGE A 0 0 0 -
5 =M% StEEHRBER 0 0 0 -
EARLA St BMOIKAR 0 0 0 -
=FIR/\ET 0 0 0 =
6 TR FHGE A 0 0 0 -
6 BT StEEHRBER 0 0 0 -
6 TR St BMIKAR 0 0 0 -
ETR/\ET 0 0 0 =
FHGE A 3,207 3,207 3,207 100.00%
7 i) StEEHRBER 288 288 0 0.00%
St BMOIKAR 0 0 275 -
TG 3,495 3,495 3482 99.63%
FEHGE A 22,629 22,629 22,629 100.00%
8 HE T StEEHRBER 1,184 1,184 0 0.00%
St BEIKAR 0 0 517 -
BEETH/\ET 23,813 23,813 23146 97.20%
FHGE A 3,299 3,299 3,299 100.00%
9 TR StEEHRBER 892 892 0 0.00%
St BEIKAR 0 0 791 -
TR /\ET 4,191 4,191 4090 97.59%
FEHGE A 1,009 1,009 1,009 100.00%
10 HEM StEEHRBEH 531 531 0 0.00%
St BEIKAR 0 0 51 -
HEM/\ET 1,540 1,540 1520 98.70%
(CE2 e R 17,521 17,521 17,521 100.00%
N adm StEEERBRE 6,526 6,526 0 0.00%
St B OAE 0 0 514 -
adrm/st 24,047 24,047 22635 94.13%
R 16,865 16,865 16,740 99.26%
12 LR StEEERBR 14,378 14,378 0 0.00%
St EOAE 0 0 14,203 -
EAER/\st 31,243 31,243 30943 99.04%
FEHGE A 13,871 13,871 12,508 90.17%
13 [=3psie StEEBRBER 2,140 2,140 0 0.00%
St B4R 0 0 2,505 -
iR /\st 16,011 16,011 15013 93.77%
(CE2E R 13,265 13,265 13,265 100.00%
14 armm StEEBRBRE 7,090 7,090 0 0.00%
St B OIS 0 0 6,802 -
Barm/\st 20,355 20,355 20067 98.59%




FHGE A 3,497 3,497 3,497 100.00%
15 EEm StEEHRBER 878 878 0 0.00%
St BEIKAR 0 0 780 -
E=m/\et 4,375 4,375 4277 97.76%
(CE2EEE) 554 498 664 119.86%
16 BN StEEERBE 4,978 4,342 0 0.00%
St B OAE 0 0 4,737 -
EMRL/\ET 5,532 4,840 5401 97.63%
(CE2EE) 1,835 1,230 1,838 100.16%
7 EE 33 StEEERBH 1,796 1,796 0 0.00%
St B OKAE 0 0 1,594 -
E&R/\Et 3,631 3,026 3432 94.52%
(CER e R 24,066 24,066 23,726 98.59%
18 i=1:-300) StEEERBH 9,260 9,260 0 0.00%
St B OAE 0 0 6,076 -
BRT/\Et 33,326 33,326 29802 89.43%
BRI 6,793 6,793 6,793 100.00%
19 RRRA& StEEERBR 2,568 2,568 0 0.00%
St B OIS 0 0 2,003 -
R /\Et 9,361 9,361 8796 93.96%
(CE2E R 10 10 0 0.00%
20 AL StEEBRBRE 30 30 0 0.00%
St EOAE 0 0 66 -
Rk \at 40 40 66 165.00%
(CE2E R 55 55 55 100.00%
21 TEERk StEEERBR 17 17 0 0.00%
St B OIS 0 0 17 -
TEER/\at 172 172 172 100.00%
22 ARk BRI 578 578 578 100.00%
22 xRk StEEERBER 46 46 0 0.00%
22 ARk St B EAE 0 0 46 -
a=RM/\st 624 624 624 100.00%
(CE2E R 166,872 166,211 165094 98.93%
stEEERBER /N 58,528 58,012 0 0.00%
St B DEUHE/\Et 0 0 50414 =
st 225,400 224,223 215,508 95.61%




BRI EHER(112.85)

1= #H @ 228t (%) EILES
=274 R
0.5mlZ=8t (%) BER(A)
FHGE A 22,500 22,500 21,500 95.56%
1 =!rye) StEEHRBER 1,641 1,641 0 0.00%
st BMOIKAR 0 0 1,503 -
Al 24,141 24,141 23003 95.29%
FHGE A 1,041 1,041 985 94.62%
2 EEm StEEHRBER 3,180 3,180 0 0.00%
St BMIKAR 0 0 2,947 -
EEm/\Et 4,221 4,221 3932 93.15%
FHGE A 15,600 15,600 16,150 103.53%
3 #dbm StEEHRBER 1,716 1,716 0 0.00%
St B4R 0 0 180 -
#rdbr/NEr 17,316 17,316 16330 94.31%
FHGE A 4,690 4,690 5,399 115.12%
4 =1 StEEHRBER 573 573 0 0.00%
St B4R 0 0 40 -
HREM/\EE 5,263 5,263 5439 103.34%
FHGE A 0 0 0 -
5 =M% StEEHRBER 0 0 0 -
St BEIKAR 0 0 0 -
=R/ \EE 0 0 0 =
FEHGE A 0 0 0 -
6 BT StEEHRBER 0 0 0 -
St BEIKAR 0 0 0 -
SETRA/\EE 0 0 0 =
FEHGE A 2,829 2,829 2,829 100.00%
7 ™ StEEHRBER 281 281 0 0.00%
St BEIKAR 0 0 260 -
I T/NEE 3,110 3,110 3089 99.32%
FHGE A 22,901 22,901 22,901 100.00%
8 HE T StEEHRBER 1,344 1,344 0 0.00%
St BEOIKAR 0 0 100 -
BB/ NG 24,245 24,245 23001 94.87%
FHGE A 3,522 3,522 3,522 100.00%
9 TR StEEHRBER 1,062 1,062 0 0.00%
St BEIKAR 0 0 998 -
HTTRA/NEE 4,584 4,584 4520 98.60%
FHGE A 896 896 896 100.00%
10 RS StEEBRBER 527 527 0 0.00%
St B4R 0 0 513 -
HEER/NET 1423 1423 1409 99.02%
(CE2 e R 17,734 17,734 17,734 100.00%
n adm StEEBRBR 8,308 8,308 0 0.00%
St B OAE 0 0 6,565 -
At/ 26,042 26,042 24299 93.31%
(CE2EE) 23119 23,119 22,629 97.88%
12 E2 (w2 StEEBRBR 15,820 15,820 0 0.00%
St B OAE 0 0 15,665 -
EAERR/\EE 38,939 38,939 38294 98.34%
FEHGE A 15,151 15,151 13,719 90.55%
13 [=3psie StEEHRBEH 2,496 2,496 0 0.00%
St BMOIKAR 0 0 2,869 -
FIRAR/\RT 17,647 17,647 16588 94.00%
R 19,679 19,679 19,679 100.00%
14 armm StEEERBER 6,252 6,252 0 0.00%
St B OAE 0 0 5,991 -
Aarm/ar 25,931 25,931 25670 98.99%




FHGE A 2,788 2,788 2,787 99.96%
15 EEm StEEHRBER 950 950 0 0.00%
St BEIKAR 0 0 850 -
= 3,738 3,738 3637 97.30%
(CE2EE) 900 662 900 100.00%
16 EMRL StEEERBRE 5,636 4,530 0 0.00%
St B OAE 0 0 5,205 -
EMB&/NEE 6,536 5,192 6105 93.41%
(CE2E R 1,571 1,191 1,571 100.00%
17 EE StEEERBRE 1,158 1158 0 0.00%
St B OAE 0 0 1,037 -
EER/E 2,729 2,349 2608 95.57%
(CEAEE) 21,400 21,400 21,400 100.00%
18 i=1:-30) StEEERBHE 8,530 8,530 0 0.00%
St B OAE 0 0 5794 -
BT/ 29,930 29,930 27194 90.86%
(CE2E R 10,567 10,567 10,567 100.00%
19 RRR& StEEBRBR 2,376 2,376 0 0.00%
St B OAE 0 0 1,880 -
RERR&/NEE 12,943 12,943 12447 96.17%
(CE2E R 10 10 0 0.00%
20 AL StEEERBRE 44 44 0 0.00%
St B OAE 0 0 62 -
& IR&/\EE 54 54 62 114.81%
(CE2E R 49 49 49 100.00%
21 TEER StEEERBRE 123 123 0 0.00%
St EOAE 0 0 123 -
TEER&/\Et 172 172 172 100.00%
(CE2E R 764 764 764 100.00%
22 axfk StEEERBR 12 12 0 0.00%
St EOAE 0 0 12 -
AR/ 776 776 776 100.00%
RS AN/ 187,711 187,093 185981 99.08%
St EEBRBEH/ 62,029 60,923 0 0.00%
& BRI/ 0 0 52594 =
st 249,740 248,016 238,575 95.53%




BRI EHFR(112.95)

EE % ElR 28t (%) Bl
R B
0.5miZE8 () RO
CEEEE 20,400 20,400 19,300 94.61%
1 =!rye) SrEEBRBE 1,368 1,368 0 0.00%
&t B[O AH 0 0 1,495 -
adbm/hat 21,768 21,768 20795 95.53%
EHEERI 1,031 1,031 1,003 97.28%
2 EEm StEEBRHE 3,402 3,402 0 0.00%
&t B[O AH 0 0 3,488 -
EHEm/at 4,433 4,433 4491 101.31%
EHEERI 16,200 16,200 16,750 103.40%
3 #dbm SrEEBRBE 1,606 1,606 0 0.00%
&t B0 AH 0 0 180 -
AL/ NEE 17,806 17,806 16930 95.08%
EHEERIG 4,886 4,886 5,491 112.38%
4 == StEEBRBE 773 773 0 0.00%
&t B[O K AH 0 0 0 -
BRI/ 5,659 5,659 5491 97.03%
AR 0 0 0 -
5 S HEEDEBE 0 0 0 -
&t B[O AH 0 0 0 -
SFI)E 0 0 0 -
WA 0 0 0 -
6 EIH HEEDEBS 0 0 0 -
&t B[O AH 0 0 0 -
TR B 0 0 0 -
CEEEE 4,413 4,413 4,413 100.00%
7 L) B A8 R 266 266 0 0.00%
&t B[O K AH 0 0 243 -
T T/NEE 4,679 4,679 4656 99.51%
EHEERIG 31,391 31,391 31,391 100.00%
8 HE™ st E B8R 996 996 0 0.00%
&t B0 K AH 0 0 27 -
BB m/NEE 32,387 32,387 31418 97.01%
EHEERIG 779 779 779 100.00%
9 TR st E BB AR 1,004 1,004 0 0.00%
&t B[O K AH 0 0 1,169 -
HTTRA/NEE 1,783 1,783 1948 109.25%
EBEEIG 1,167 1,167 1,167 100.00%
10 RS st E B8R 500 500 0 0.00%
&t B 0K AH 0 0 481 -
=S Y 1,667 1,667 1648 98.86%
GEE R 17,554 17,554 17,554 100.00%
1 adm StEEBRES 6,090 6,090 0 0.00%
St B BEAE 0 0 4,732 -
atm/hat 23,644 23,644 22286 94.26%
CEEE 17,564 17,564 17,397 99.05%
12 E2 (w2 StEEBRES 12,454 12,454 0 0.00%
$ BB K 0 0 12,118 -
ALR/Nat 30,018 30,018 29515 98.32%
EBEER 4,240 4,240 4,014 94.67%
13 [=3psie B A8 AR 2,046 2,046 0 0.00%
&t B 0K AH 0 0 1,675 -
EYIR SR/ NG 6,286 6,286 5689 90.50%
GEE R 15,090 15,090 15,090 100.00%
14 armm StEEBRES 6,232 6,232 0 0.00%
St B BEAE 0 0 5,857 -
Aram/hat 21,322 21,322 20947 98.24%




FHGE A 3,533 3,533 3,461 97.96%
15 EEm StEEHRBER 700 700 0 0.00%
St BEIKAR 0 0 650 -
E= 4,233 4,233 41 97.12%
(CE2EEE) 762 636 762 100.00%
16 EMRA StEEERBH 5188 4,758 0 0.00%
St B OAE 0 0 4,927 -
EMB&/NEE 5,950 5,394 5689 95.61%
(CERE R 740 481 740 100.00%
17 EE 33 StEEERBHE 316 316 0 0.00%
St B OAE 0 0 294 -
EER/E 1,056 797 1034 97.92%
(CE2EE) 24,714 24,714 24,714 100.00%
18 i=1:-300) StEEERBRE 8,194 8,194 0 0.00%
St B OAE 0 0 5,000 -
BT/ 32,908 32,908 29714 90.29%
(CE2EE) 9,452 9,452 9,452 100.00%
19 RRR& StEEERBRE 2,150 2,150 0 0.00%
St B OAE 0 0 1,676 -
RERR&/NEE 11,602 11,602 1128 95.91%
(CE2EE)E 10 10 0 0.00%
20 AL StEEBRBRE 39 39 0 0.00%
St B OAE 0 0 52 -
HIR&/\EE 49 49 52 106.12%
(CE2 e R 50 50 50 100.00%
21 TEER StEEERBR 54 54 0 0.00%
St B OIS 0 0 54 -
TEER&/\Et 104 104 104 100.00%
(CE2EE) 690 690 690 100.00%
22 axk StEEBRBER 26 26 0 0.00%
St EOAE 0 0 26 -
AR/ 716 716 716 100.00%
BHEE AN/ 174,666 174,281 174218 99.74%
StEEEBRBEE/ 53,404 52,974 0 0.00%
&t BRI/ 0 0 44144 =
st 228,070 227,255 218,362 95.74%




BREBEHF(12.10R)

EE % ElR 28t (%) Bl
R B
0.5miZE8 () RO
CEEEE 18,700 18,700 18,400 98.40%
1 =!rye) srEEBRBE 2,027 2,027 0 0.00%
&t B[O AE 0 0 1,457 -
adbm/hat 20,727 20,727 19857 95.80%
CEEEE 602 602 603 100.17%
2 EEm stEEBRBE 3,424 3,424 0 0.00%
&t B0 AE 0 0 3,077 -
EEm/at 4,026 4,026 3680 91.41%
CEEE 17,420 17,420 19,140 109.87%
3 #dLm srEEBRBHE 1,572 1,572 0 0.00%
St B OKAE 0 0 130 -
#rdbr/at 18,992 18,992 19270 101.46%
CEEEE 4,392 4,392 4,985 113.50%
4 == srEEBRBHE 647 647 0 0.00%
&t B[O AE 0 0 0 -
BRI /\ET 5,039 5,039 4985 98.93%
WA 0 0 0 -
5 S HEEDEBE 0 0 0 -
&t B[O AE 0 0 0 -
SFIE 0 0 0 -
WA 0 0 0 -
6 ETH HEEDEBS 0 0 0 -
&t B[O AE 0 0 0 -
T E 0 0 0 -
CEEEE 3,706 3,706 3,706 100.00%
7 L) SrEEBRHE 357 357 0 0.00%
&t B[O AH 0 0 332 -
HrTT/NEE 4,063 4,063 4038 99.38%
CEEEE 25,527 25,527 25,602 100.29%
8 HE™ srE A8 R 486 486 0 0.00%
&t B0 AH 0 0 0 -
BB/ NET 26,013 26,013 25602 98.42%
CEEEE 2,497 2,497 2,497 100.00%
9 TR srEE SR 1110 1,110 0 0.00%
&t B[O AH 0 0 1,042 -
HTTRA/NEE 3,607 3,607 3539 98.11%
EHEERI 628 628 628 100.00%
10 RS srEE SR 728 728 0 0.00%
&t B[O AH 0 0 702 -
EEL UG 1,356 1,356 1330 98.08%
GG R 19,035 19,035 19,035 100.00%
1 adm StEEBREHS 8,266 8,266 0 0.00%
St B OAE 0 0 6,094 -
atm/hat 27,301 27,301 25129 92.04%
GG R 25,664 25,664 25,392 98.94%
12 22 StEBEBRES 16,464 16,464 0 0.00%
St B OAE 0 0 16,099 -
AER/NGT 42,128 42,128 41491 98.49%
EHEER 7,724 7,724 7,052 91.30%
13 [=3psie EagSI=Eolicere s 2,134 2,134 0 0.00%
&t B[O AH 0 0 2,440 -
EYIR SR/ 9,858 9,858 9492 96.29%
[CEEE 17,694 17,694 17,694 100.00%
14 armm StEEBRER 6,556 6,556 0 0.00%
St B OAE 0 0 6,138 -
Aaram/hat 24,250 24,250 23832 98.28%




FHGE A 4,304 4,304 4,303 99.98%
15 EEm StEEHRBER 846 846 0 0.00%
St BEIKAR 0 0 700 -
= 5150 5,150 5003 97.15%
(CE2EE) 8,128 6,128 8,419 103.58%
16 EMRA StEEERBRE 4,825 4,827 0 0.00%
St B OAE 0 0 4,369 -
EMB&/NEE 12,953 10,955 12788 98.73%
(CE2 e R 2,670 1,731 2,670 100.00%
17 EE StEEERBH 652 652 0 0.00%
St B OAE 0 0 601 -
EER/E 3,322 2,383 3271 98.46%
(CE2EE) 21,829 21,829 21,829 100.00%
18 i=1:-300) StEEERBRE 6,026 6,026 0 0.00%
St B OAE 0 0 3,330 -
BT/ 27,855 27,855 25159 90.32%
(CE2E R 10,61 10,61 10,611 100.00%
19 RRR& StEEERBER 2,726 2,726 0 0.00%
St B OAE 0 0 1,925 -
RERR&/\EE 13,337 13,337 12536 93.99%
(CE2EE) 10 10 0 0.00%
20 AL StEEERBER 42 42 0 0.00%
St B OAE 0 0 60 -
& HIR&/\EE 52 52 60 115.38%
(CE2EE) 39 39 39 100.00%
21 TEERk StEEERBER 58 58 0 0.00%
St EOAE 0 0 58 -
TEER&/\Et 97 97 97 100.00%
(CE2EE) 463 463 463 100.00%
22 axk StEEERBR 44 44 0 0.00%
St B OIS 0 0 44 -
AR/ 507 507 507 100.00%
BHEE AN/ 191,643 188,704 193068 100.74%
StEEBRBER/ 58,990 58,992 0 0.00%
&t BRI/ 0 0 48598 =
st 250,633 247,696 241,666 96.42%
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